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THMMESEE
No = g 7 = (=5 Al LS M=l & ]l SHEE(%) |l o
1 |HIIS &X 24| (EHOI1E) (0.6m) m 3,578 1,907 628 1,043
2 E'J%IHSJ’U(%EMH) WA 181,068 136,885 7,053 37,1301
3 LESUHEA(EAHZSESBN) He 240,547 174,705 10,511 55,331
4 HOIS4X WS0.7m m 3,849 2,120 687 1,042
5 YETHEXI(SEBM) He 273,284 218,535 8,740 46,009
6 ‘FENDER SYSTEM 55 &X| EA 130,947 104,714 4,188 22,045‘
7 &E =,8¢c 33& m 22,288 14,150 8,138 0
8 SERENI:ESLSS 5TonOl Gt EA 462,543 302,309 43,259 116,975
9 AJIE)\V\“DEJ\(—’F%) 0.015~0.03m" /EA m 111,968 104,303 4,330 3,335‘
10 S4HSE 0.03mZ0I5t: == m 13,185 9,913 1,495 1,777
11 024 (B2Rt) S2,100m 012/ 3/ (S:8~12cm) m 21,666 15,412 2,622 3,632
12 B2 m 522 24 498 0
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02
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X
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n
3
i

& s = A g A L2l M=zl & i
1.HJIE 44X (SAII(EH0I0E)(0.6m)) [n] 3,578 1,907 628 1,043
b, ZAI(EOIAE) (0.6m")
q = 0.7 f=1./15 = 0.67 K = 0.55
E=0.45 Cm = 18sec (90 ° )
3,600 x ¢ x k x f X E 3,600. x 0.7 x 0.55 x 0.67 x 0.45
0= —————————— e = 23220  myhr
Cm 18
L2RHl 44,299 + 23.22 = 1,907.7
Mzdl 14,599 + 23.22 = 628.7
2 Bl : 24,238 + 23.22 = 1,043.8
2 A 3,580.2 3,580.2 1,907.7 628.7 1,043.8
L. & A
L2dl - 1,907
MEHl 628
2 Hl ot 1,043
Al : 3,578 3,578 1,907 628 1,043
2.UENMEX(EEN) [MAH] 181,068 136,885 7,053 37,130
b, &=3X &X
JY(E™) (10Ton)
t1(=Hl) = ¢8 t2(RelZ) ) =t
t3(QILSH™ ) = (2
t4(2BEZXTY ) =2 x A =20. &
ts(DelZEJl ) = 2 tB(AXEE ) =2
t7 (ALK ) = 22
Cm =t1 +t2 +t3 +t4 +th + 16 +t7 =2.+ 5.+ 3.+ 20.+ 5.+ 5.+ 2.= 42.
q=1 E =10.8
60 X ¢ X E 60 x 1x0.8
Q=————— = = 1.14
Cm 42.
L2Hl - 44,299 + Q = 44,299. = 1.14 = 38,858.7
M=l 5,361 - Q= 531. - 1.14 = 4,702.6
2 Hl @ 28,219 + Q =28,219. + 1.14 = 24,753.5
& At 68,314.8 68,314.8 38,858.7 4,702.6 24,753.5
L. 2=SHAX 2
JY(E™) (10Ton)
Q@ =Q + 05 =114 + 05 =2.28
LR2Hl 44,299 Q1 = 44,299. + 2.28 = 19,429.3
Mzdl o 5,361 Q1 = 5,361. + 2.28 = 2,351.3
4 dl @ 28,219 Q1 = 28,219. + 2.28 = 12,376.7
2 H ¢ 34,157.3 34,157.3 19,429.3 2,351.3 12,376.7
Ch. S 2H (Sg€a8 29 ¢X)
sgolg 179,203 +(Q x€&) x<9Q = 179,203, = (1.14 x¢€) x4.= 78,597.8 78,597.8 78,597.8
et &8
L2Hl : 38,858.7 + 19,429.3 + 78,597.8 = 136,885
Mzdl ¢ 4,702.6 + 2,351.3 = 7,053
2 Hl ¢ 24,753.5 + 12,376.7 = 37,130
A © 181,068 181,068 136,885 7,053 37,130
.UETEN(EHEEGN) [MHE] 240,547 174,705 10,511 55,331
b, ¢S EXA
AYIeN(EH) (10Ton)
t1(Edl) cE t2(neldd ) =2




Cm =1t1 +t2 +t3 +t4 +th +t6 +t7 =245+ 3.+5.+30.+5+ 2 =052

a=1. E=08
60 x ¢ x E 60 x 1% 0.8
Q= ——————= = = 0.92
o 52.
L9H| 44299  + Q= 44,209 - 0.92 = 48.151.

& s = A g A L2l M=zl 3 Hl
t5(DRIZED ) = 2 tB(HAX ) = =2
Cm = t1 + t2 + t3 + t4 + t5 + t6 = 2.+ 5.4+ 3.+ 30.+ 5.4+ 2.= 47.
a=1 E=0.38
60 x ¢ x E 60 x 1x0.8
Q=—————— = - = 1.02
Cm 47.
C2Hl ;44,299 + Q= 44,299. = 1.02 = 43,430.3
a2t 5,361 + Q= 5361. + 1.02 = 5,255.8
3 Hl o 28,219 + Q= 28,219. = 1.02 = 27,665.6
A H o 76,351.7 76,351.7 43,430.3 5,255.8  27,665.6
Lh., ZSHEH AW
A (E) (10Ton)
Q1 = 1.02
C=2Hl ¢ 44,299 + Q1 = 44,299. < 1.02 = 43,430.3
WEL] 5,361 + Q1 = 5,81. =+ 1.02 = 5,255.8
A Hl o 28,219 + Q1 = 28,219. + 1.02 = 27,665.6
A& A o 76,3517 76,351.7 43,430.3 5,255.8|  27,665.6
Ch. =24l (Sgo=2 9 ¢x)
sgog 179,203 +(Q x &) x<Q =179,203. +(1.02 x¢€) x4.= 87,844.6 87,844.6 87,844.6
=
= 2Hl : 43,430.3 + 43,430.3 + 87,844.6 = 174,705
W24l : 5,255.8 + 5,255.8 = 10,511
3 Hl : 27,665.6 + 27,665.6 = 55,331
H 1 240,547 240,547 174,705 10,511 55,331
4. HOISAX (H50.7m) [m] 3,849 2,120 687 1,042
1. BAI(RSHE) (0.7m")
a =07 f=1./15 = 0.67 K = 0.55
E =0.45 Cm = 20sec (135 ° )
3,600 x ¢ xkx{xE 3,600 x 0.7 x 0.55 x 0.67 x 0.45
Q=—---—— = ——— = 20.89 m /hr
cm 20.
S 2Hl ¢ 44,299 + 20.89 = 2,120.5
WEHl 14,364 + 20.89 = 687.6
3l o 21,780 + 20.89 = 1,042.6
E 3,850.7 3,850.7 2,120.5 687.6 1,042.6
2. 8 A
S2Hl 2,120
Ma24l 687
A0l o 1,042
H 3,849 3,849 2,120 687 1,042
5. 4BMEX(2E6H) [HE] 273,284 218,535 8,740 46,009
ob. ¥sM 4X
Y (EH) (10Ton)
t1(=H ) = 2 t2(n2JAd) ) =2
tR(QIBIA ) = 8 t4(D2AEI ) =2




& s = A g A L2l M=zl 3 Hl
W24 5,361 =~ Q= 5,31. ~ 0.92 = 5,827.1
3 Hl : 28,219 + Q= 28,219. = 0.92 = 30,672.8
2 A : 84,650.9 84,650.9 48,151.0 5,827 .1 30,672.8
Lt ZSHEX =g
Y (EH) (10Ton)
01 =Q + 05 =092 + 05 = 1.84
C2Hl 44,299 = Q1 = 44,299. = 1.84 = 24,075.5
MEHl 5,361 + Q1 = 5,31. =+ 1.84 = 2,913.5
3 Hl o 28,219 + Q1 = 28,219. =+ 1.84 = 15,336.4
A A : 42,325.4 42,325.4 24,075.5 2,913.5 15,336.4
Ch. =24l (Sgoe o X, MAer® oy q0l)
sgog 179,203 +(Q x€&) x99 =179,203. +(0.92 x¢) x4.= 97,392.9 97,392.9 97,392.9
PSR PSS 180,013 +(Q x€&) xz@ = 180,013. +(0.92 x¢) x2.= 48,916.5 48,916.5 48,916.5
ct . &8AH
R4l : 48,151. + 24,075.5 + 97,392.9 + 48,916.5 = 218,535
WEHl : 5,827.1 + 2,913.5 = 8,740
& Hl : 30,672.8 + 15,336.4 = 46,009
H 1 278,284 273,284 218,535 8,740 46,009
6.FENDER SYSTEM ££Z & X [EA] 130,947 104,714 4,188 22,045
Jb. FENDER SYSTEM 22 43X
JYe(EH) (10Ton)
t(&EH ) =8 t2(220F) ) =2
t3(QIY ) =2 t4(D2AEI ) =2
tE(E8E &%) = f2 x 1H4A =5 2
tB(RAXNEY ) =2 t7(29UX ) =2
Cm = t1 + t2 + t3 + t4 + t5 + t6 + t7 = 2.4 5.+ 3.+ 5.4+ 5.+ 3.+ 2.= 25,
a=1. E=0.8
60 X ¢ X E 60 x 1x0.8
Q=——————— = —— = 1.92
cm 25.
CRHl 1 44,299 + Q= 44,299. + 1.92 = 23,072.3
Ma2b 5,361 + Q= 531, + 1.92 =2,792.1
3 bl o 28,219 + Q= 28,219. + 1.92 = 14,697.3
4 A o 40,561.7 40,561.7 23,072.3 2,792.1 14,697.3
Lt. FENDER SYSTEM &®=EZ &X X0
JY(EH) (10Ton)
Q1 =Q + 05 =192 + 05 =3.84
S 2Hl ¢ 44,299 + Q1 = 44,299. + 3.84 = 11,536.1
MEdl 5,361 + Q1 = 5,361. = 3.84 = 1,39.
3 Hl o 28,219 + Q1 = 28,219. + 3.84 = 7,348.6
A H i 20,280.7 20,280.7 11,536.1 1,396.0 7,348.6
Ch. =24 (Sgee ol ;X =Autx oy q0l)
sgog 179,203 +(Q x€) x40 = 179,203, < (1.92 x¢€) x4.= 46,667.4 46,667 .4 46,667.4
ESEe RS 180,013 +(Q x€) xz@Q = 180,013. <+ (1.92 x€) x2.= 23,439.1 23,439.1 23,439.1
et &8
24 : 23,072.3 + 11,536.1 + 46,667.4 + 23,430.1 = 104,714
W28l 2,792.1 + 1,39%6. = 4,188
2 Hl o 14,697.3 + 7,348.6 = 22,045
H ¢ 130,947 130,947 104,714 4,188 22,045
7.2F(R, 8 33&)[m] 22,288 14,150 8,138 0.
® =& ASEH (11-2-€(SUOIHAER )

1. =24 (2.3 30% 28)

S S © 213,676 x _0.015 01 x &3 = 9.615.4




& g 2 A g A L2H X ZHl Z H
2SR 1 141,096 x 0.003 & x &3 = 1,269.8
QIS AN ¢ 10,885.2 10,885.2
P2E (REY AWNE )+
=23 : 213,676 x 0.015 21 x0.3 x 3 = 2,884.6
288 141,096 x 0.003 2/ x0.3 x 3 = 380.9
QIAN  : 3,265.5 3,265.5
2. IMZHl

Jb. RJI0te Y (Ste )- 75w
Q1 = 750+ (68.3{% x10) = 0.11
1.+ (1.- 44{%} +100) = 1.786

Q=01 x @ =0.11 x 1786 =0.197 4

&M= SSIAMEES 25%

SIIE oA = 2ol i 13,800. x 0.197 L = 2,718.6

I IAAH 3,000. x 0.197 L x 25% = 147.7

stexHEdl A 2,866.3 2,866.3

L. st2) (5% )- 100 u
Q1 = 100 p + (43{%} x10) = 0.233
2 = 1.+ (1.- 40{%} +100) = 1.667

Q=01 x Q2 =0.233 x 1.667 = 0.389 ¢

&M= TSAMSEY 25%

S.RINTER (FstnRAHEE) 5,750. x 0.389 L = 2,236.7

S NALY 2,500. x 0.389 L x 25% = 243.1

SZM=H A 2,479.8 2,479.8
Ch. st (4% )- 754

Q1 = 750+ (38{% x10) = 0.193

1.+ (1.- 40{%} +100) = 1.667
Q=01 x Q2 =0.193 x 1.667 = 0.322 ¢

SlAMeE SEASEQ

25%

S.R FINISH (SSNPAHMT) 5,750. x 0.322 L = 1,851.5
St DA 2,500. x 0.322 2 x 25% = 201.2
ScMEH A 2,052.7 2,052.7

3. ZMEHl (=MEHI  10%)
( 2,866.3 + 2,479.8 + 2,0562.7 ) x 10% = 739.8 739.8 739.8

4. 8 A
LS®dl : 10.885.2 + 3,265.5 = 14,150
EEHH\‘ 2,866.3 + 2,479.8 + 2,052.7 + 739.8 = 8,138
h A © 22,288 22,288 14,150 8,138

8. 22U HXI: K& 4Z(5Ton0I5t) [EA] 462,543 302,309 43,259 116,975

Cm =72 xt3 =21 q =1 E=10.8
60 X ¢ X E 60 x 1x0.8
Q=——-— = ————— =2.29 K /hr
Cm 21
SRH 44,299 + 2.29 = 19,344.5
MH=zdl 7,064 + 2.29 = 3,084.7

&l o 12,774 + 2.29 = 5,578.1
EN; 28.007.3 28.007.3 19.344.5 3.084.7 5,578.1




& s = H g A L2Hl M=zl Z d
L. s428t
EHEXHHIEY LS (20Ton)
L =2 km vV =20 g=1 E=0.9 f=1
T =20 Ton{HTZE} W =34 {2DNES1HASTH}
gl = 1+W=20+3.45 = 5.8 k =7+E=7+09 =7.78
t1 = (60 +Qk)+al = (60+7.78)+5.8 = 1.33 t2 = Lxz/\Vx60.=2x2/20%x60.= 12.
t3 = 2.5 t4 = 0.42
Cm = t14t24134t4 = 1.3341242.540.42 = 16.25
60 x ¢ x fxE 60 x 1x 1x0.9
Q=—————— = —————— = 3.32
Cm 16.25
LRHl 44,299 + 3.32 = 13,343
H=4l 23,279 + 3.32 = 7,011.7
Z Hl : 13,645 + 3.32 = 4,109.9
A A 24,464.6 24,464.6 13,343.0 7,011.7 4,109.9
Ch. oIyl
L =149 +(2.29 JH/hr x8.hr) = 0.22 ol {ZJ]201 ZDJ201}
sgolg © L x 179,203 = 0.22 x 179,203. = 39,424.6 39,424.6 39,424.6
et. H X
1) JYe(REHT) (100Ton)
q = ¢EA Y H = &hr
Q=8+ 8=1
L2241 44,299 + 1. = 44,299.
=4l 29,110 + 1. = 29,110.
4 dl 104, 166 + 1. = 104,166.
ENE | 177,575. 177,575. 44,299.0 29,110.0  104,166.0
) #2x  (1X)
T = 1.2 = €M =0.13 ES
L 24l 615,976 x 0.13 = 80,076.8
HZ4l 31,180 x 0.13 = 4,053.4
4 dl 24,015 x 0.13 = 3,121.9
A A 87,252.1 87,252.1 80,076.8 4,053.4 3,121.9
1) 2™ R
BER T €92 x 141,096 & = 105,822. 105,822. 105,822.
) A& A
LS 2Hl : 44,299. + 80,076.8 + 105,822. = 230,197.8
M=8l ¢ 29,110, + 4,053.4 = 33,163.4
4 "l o 104,166. + 3,121.9 = 107,287.9
Al © 370,649 1 370,649.1  230,197.8 33,163.4  107,287.9
ok, & A
LSRHl : 19,3445 + 13,343. + 39,424.6 + 230,197.8 = 302,309
M=4l o 3,084.7 + 7,011.7 + 33,163.4 = 43,259
4 Hl : 5578.1 + 4,109.9 + 107,287.9 = 116,975
A T 462,543 462,543 302,309 43,259 116,975
9. I EMAEDED|(45)(0.015~0.03m /EA) [ ] 111,968 104,303 4,330 3,335
o, == (1x)
E =0.75 T=26.hr
a=16 x E=16 x 075 =12 m/hr
A=ax T=12 x 6.=7.2 mx
SRH : 615,976 + 7.2 = 85,552.2
M=4l o 31,180 + 7.2 = 4,330.5
4 dl o 24,015 + 7.2 = 3,335.4
N 93,218.1 93,218.1 85,552.2 4,330.5 3,335.4




C I_A =
CH7L kS
o6 =2 2 A g A L 2H YUEEY:]] 3
[ o) - =
2 BHEE (1w = (1.2 m x ghr)) x 180,013 = 18,751.3 18,751.3 18,751.3
Ct. & A (b~ ) w/m
L4l : 85,552.2 + 18,751.3 = 104,303
Mz dl 4,330
2 Hl : 3,33
A 111,968 111,968 104,303 4,330 3,335
10. FAMSLRESH0.03m S0I5H:+F)[m] 13,185 9,913 1,495 1,777
Jb. & of SA(FYAYS) (1.0m; 2EH)
qg=1.m k = 0.55 f=0.9 E = 0.3 Cm = 33x= {135°}
3,600 x ¢ x k x fxE 3,600. x 1x0.55 x0.9 x0.35
0——————— =—_— = 18.9 ™ /hr
Cm 33.
LRHl 44,299 + 18.9 = 2,343.8
Mzdl ¢ 24,146 -+ 18.9 = 1,277.5
2 Hl : 30,415 + 18.9 = 1,609.2
& A 5,230.5 5,230.5 2,343.8 1,277.5 1,609.2
Lt. Soter2d]
1) B2 HY
Bz (1X)
Q = 142.8 m {10/0.07}
L2Hl : 615,976 + 142.8 = 4,313.5
Mzdl o 31,180 + 142.8 = 218.3
2 Bl 24,015 + 142.8 = 168.1
EXEE I 4,699.9 4,699.9 4,313.5 218.3 168.1
) x™Hog
sgog 179,203 x 0.04 x0.1 = 716.8
280 141,096 x0.18 x 0.1 = 2,539.7
S A 3,256.5 3,256.5
o) A A
L2Hl : 4,313.5 + 3,256.5 = 7,570.
Mzdl o 218.3
2 Hl ¢ 168.1
Al T 7,956.4 7,956.4 7,570.0 218.3 168.1
ct. & A
L2d : 2,343.8 + 7,570. = 9,913
MEHl @ 1,277.5 + 218.3 = 1,495
4 dl : 1,609.2 + 168.1 = 1,777
A : 13,185 13,185 9,913 1,495 1,777
1.8 0I2EE (B ZX) (S2,100m 012H/3] (S:8~12cm)) [m'] 21,666 15,412 2,622 3,632
<2017 B4 OHH. 6-1-2 232IE BIX EIE >
1. 02 - SN
2. 2321EBIOX} (32m,80~95m /hr)
= €~12cm
g = 100 m* 0| gt 13EIEE
t1 = 20min HZx Ad
t2 = 20min HIX Ot
t3 = 3Cmin XX 0ls 2 MAE (3Y)
Np = 13 HIX 0ls % MWAEs > (BEX XGls SEHe 2DH0t0 & F
t0 = 1.15min EIEDIIZ=AIZE (22,282 ¢~12cm)

fl =12 @ NERE (25)




o6 =2 2 A g A L 2H YUEEY:]] 3
f2 = 1.2 ANEHXY zA (BS)
t4 = t0 x f1 x f2 x g=1.15 x 1.2 x 1.2 x 100. = 165.6 min HIOXErA
F=07 : ZHAdHL (18 EHE&R2 100 w08 )
Tc = (t14t24(t3 x Np)4t4)/F = (204204 (30 x 1)4165.6 )/0.7 = 336.57 min BIX 2FAIZ
Tb = 25min @ Q&0 98 EtEFH L OtR2IAl2E (100 m 0/2)
T = Tc4Tb = 336.57 425. = 361.57 min @ LA
Q=260.x g/ Tc =60 x 100./ 336.57 = 17.83 m /hr
S 2Hl 44,299 + 17.83 = 2,484.5
W24 23,705 + 17.83 = 1,329.5
3l : 64,767 + 17.83 = 3,632.4
2 A 7,446.4 7,446.4 2,484.5 1,329.5 3,632.4
3. o&FEAH (100 mOI2H Etd )
232/E2 1 215,145 x EOl /4808 xT / a = 215145, x 5./ 480. x361.57 / 100. = 8,103.1
sgolg 179,203 x 29 /4802 xT / g = 179,203. x 2./ 480. x 361.57 / 100. = 2,699.7
2o 141,096 x ¢Q /48082 xT / g = 141,0. x 2./ 480. x361.57 / 100. = 2,125.6
eyl 12,928.4 12,928.4
4. BPEE L HFH (I2AE SIS )9 JHPH (=2HY £9)
12,928.4 X E% = 646.4 646.4 646.4
5. &MEH (=RHIS £%)
12,928.4 x E% = 646.4 646.4 646.4
6. &
C2Hl : 2,484.5 + 12,928.4 = 15,412
VL] 1,329.5 + 646.4 + 646.4 = 2,622
2l o 3,632
H © 21,666 21,666 15,412 2,622 3,632
12,814 2I1[m] 522 24 498 0.
1. Wasl
Hg (PEZ & (0. 1mm) 475.  x 1.05 m = 498.7 498.7 498.7
2. HXdl (HEHle £9)
498.7 xE% = 24.9 24.9 24.9
3. 8 A
2 24
L] 498
3
H 522 522 24 498
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M= o 9 o Ji
A 2l L 2H Hi =ZH
= == w3 == =4 EFZH =% =l =% =l = EE 2t A Ha

RIZE | RS- 0. 7x0.5x1 1 EEY 1.794.854 1.351,267 38,993 3.185.114
HIEE DUSHAH Y BEa 0 3.3 m2 - - 71,696 243,049 2,150 7.288 73.846 250,337
HEZE HEHZEME =] 31 mz 129,780 402,318 107.521 333.315 3,225 9,997 240,526 745,630
HazE HOHERE ] 31 m2 - - 57.129 177.099 1.713 5310 53.842 182.409
HIEE | R8T HIE MT-FORM 08 me 203,198 162,568 107,521 86,016 3,225 2,580 313,944 251,154
HNEE | SiasT gz MT-FORM 0.8 mz 193,840 154,912 478,418 382,732 14,352 11.481 56,408 549,125
H12ZEE | ERSI(I82E) 0,385 m3 2,781,000 1,070,685 202,402 77.824 6.072 2,397 2,889,474 1,150,946
HUZE | 220 SxEiHD 1.10 m 3.983 4,381 46,484 51,132 - - 50,467 55,513
HZEE | DIAE(1-2) 1x0.2x0.5 1 M F77.078 877.897 24,377 1.679.352
HiZE nerEME 9 HEe 0 204 mz - - 71,696 146,259 2,150 4,388 73,806 150,645
HesE HOHTTME =] 15 m2 123,780 207648 107.521 172.033 3225 5160 240526 384,641
He=®E P o 0 1.6 mz - - 57129 91,406 1.713 2,740 55,842 94,146
HIIZE | SEaST HD MT-FORM 0,65 mz 203,198 132.078 107.521 69,888 3,228 2,098 313.944 204,062
HUZE | S28KIH &7 M T-FORM 0,65 mz2 193,640 125,866 476,416 310,870 14,362 9,328 686,408 446,164
HIZEE | EHESIISSE) 011 m3 2,781,000 305,910 202,402 22,264 6,072 67 2,959.474 328,841
MUEE | 220 xGHHD 1.40 m 3.983 5.576 45,484 B5.077 - - 50,467 70.653
RIZE | IR (2-1) 1.5x0.2x0.5 1 M 1.122,080 1.231.367 34.281 2.387.728
HIEE DUEHAH Y BEa 0 284 m2 - - 71,696 203,616 2,150 6.105 73,846 209,722
HEZE HEHZEME =] 2.3 mz 129,780 298,494 107.521 247.298 3,225 7417 240,526 553,209
HazE HSHER A ] 23 m2 - - 57.129 131,396 1.713 3.939 53 842 135,335
HIOEE | SeI8S8TH HE M T-FORM 0g me 203,193 162,676 107,521 | 96768 3,225 2.902 313,944 282,546
HNZE | SSiasii gz MT-FORM 09 mz 193,841 174276 478,416 | 430.574 14,352 12.918 56,408 617,766
Hi2EE | SE=(IpSE) 0165 m3 2.781.000 458 865 \202 402, 33356 5.072 1.001 2,589,474 493262
H4EE BT AR 1.90 m 3,983 1560 46,484 86,319 - - 50,457 95,886
RATE | DIZR2(2-2) 2x0.1x0.5 1 EES 1.005.008 1.321.106 36.276 2.362.381
Hiz=E DEEM= 2 mEg ] 3.3 mz - - 71,696 236,596 2,150 7.095 73,848 243,691
HesE HEHTEHE 1= 25 m2 129,780 324,450 107,521 268,802 3,225 8.062 240,526 601,314
H9z=E HEHEE A5 0 2.5 m2 - - 57.129 142,822 1,713 4.282 55,842 147,104
HIDEE | Sol4STH S MT-FORM 082 m2 209.198 186 942 107521 98319 3205 2.967 313,944 288,628
HNZE | Selasmi gz MT-FORM 0,92 m2 193,640 176,148 478,416 440,142 14,352 13.203 E56.408 631,493
Hi2e® | EE=l08RE) 01 m3 2.781.000 305.910 202 402 22,264 072 6657 2.989.474 328,841
HEE | ST SR 2,40 m 3.983 9,553 45,484 11,561 - - 50,467 121,120
RASZE | OIFEL(3-1) 2102205 1 M 1.467.082 1,564,839 44,187 3.096.108
Hiz=E DEEM= 2 mEg 0 3.64 mz - - 71,696 260,973 2,150 7.828 73,848 268,799
HesE HEHTEHE =] 3 m2 129,780 369,340 107,521 322,563 3,225 9,675 240,526 721,576
HIzZE HeHEE AR ] 3 m2 - - 57.129 71,387 1.713 5139 55,842 176,526
HIDEE | Sola9T M= MT-FORM 1.15 m2 209.198 293677 107.521 123649 3295 3.708 313,944 361,034
HUZE | S0I88IH 85 MT-FORM 1.15 me 193,640 222,666 476,416 550,176 14,362 16.504 656,408 789,368
HiZeE | ER=II82E) 0.2z m3 2,781,000 £11.820 202,402 44,528 6.072 1.335 2,989,474 £57.683
H4EE 2T ERGHHD 2,40 m 3.983 9.653 45,484 11,561 - - 50,467 121,120
RAGSE | OIFE3(3-2) 2x0,.3%0.5 1 M 1.929.155 1.648.569 52.097 3.829.821
HIZE DEEME 2 mEg 0 398 m2 - - 71.696 285,350 2,150 8557 73,848 293,907
HezE HOHEEHE = 15 m2 123,780 454230 107.521 376.323 3225 11.287 240,526 841,840
He=®E HaH=maR i 35 me - - 57.129 193,951 1.713 5,995 58,842 205,346
HUEE | Soi&9TH M= MT-FORM 1.38 m2 209,198 280,413 107,521 148,378 3,225 4.450 313,944 433,241
HUZE | S2I88IH &5 MT-FORM 1.38 me 193,640 267,223 476,416 660,214 14,362 19,805 656,408 947,242
HIZEE | ER=IO82E) 0,33 m3 2,781,000 917,730 202,402 B6.792 6.072 2.003 2,989.474 986,525
HAEE | ST EREHHD 240 m 3.983 4,553 45,484 11,561 - - 50,467 121,120




(S5 0691502 DjA ¥ %)
HIZE |O2=Hx 9 93 1 m2 1] 71,696 2,150 73.846
== 0.25 2 0 285645 TiE%E [i] 285645 71635
[PE= wH|2| 3% % % 0 0 0 71635 2150 71635 2150
HESE (HSAXBAF 12 1 m2 129,780 107,521 3,225 240,526
SgrEius e T mz 18000 126000 ] ] [i] 18000 126000
SEL= 0.6 L] 0 179203 107521 o 179203 107521
T = i =H(2| 3% % % 126000 3780 0 0 126000 3780
IPEE =2H|2| 3% 3% % 0 ] ] 107521 3225 1a7ez! 3225
HITE (BGAFIHEA 1 m2 o 57,129 1,713 58.842
P 0.20 2 0 285645 57129 0 285645 57129
|IFEE =2H|2| 3% 3% % 0 ] ] 57129 1713 57129 1713
HIDZE |FA5THE HE MT-FORM 1 m2 203,198 107,521 3,225 536,004 313,944
FElER 57 5.48 m2 20,000 103,600 o 0 0 20,000 103,600
el R MT-5 274 kg 32,000 87,680 o 0 0 32,000 87,680
SEL= 0.5 ] 1] 179,203 107,521 0 179,203 107,521
T = ESEGTE=TRC 0.03 % 197,280 5918 0 0 197,280 5918
IPEE =2H|2| 3% 0.03 % ] o 0 107,521 3,225 107,521 3225
HNTE [R5 825 MT-FORM 1 m2 193,840 : ATHA16 14,352 686,408
FEHZA ZEH MT-SEALI 215 kg ;" Saom z 167,800 458 s ‘§f o o 50,000 157,500
HE2F} 3US $100-100 25 E& E | TisEw ) B y i i 620 15,500
L= sU3 1 Ed 15,000 w5, 000 | a v 0 0 15,000 15,000
s 1.50 LI ) i 285645 428,857 0 285,645 428,457
Edeis 0.200 2 ] 173,203 35,840 0 179,203 35,840
HELS 0.100 | 0 141,096 14,103 0 141,036 14,103
T =] B TE=TR 0.03 % 188,000 5,640 0 0 188,000 5,640
7 PER =2H|2| 3% 0.03 % ] i 0 478,415 14,352 478,415 14,352
Hizegx |THU=EJ(09129) 1 m3 2,781,000 202, 402 6,072 2.989.474
EREE -tortar 1350 ka 2000 2700000 o i] 0 2000 2700000
s 0.50 | 0 285645 142822 0 285645 142822
HEOI= 0.3 2 0 141095 42328 o 141096 42328
EZ7|ER 0.1 2 0 172529 17252 0 172523 17252
TTH=H| ZFIH=HI2| 3% ™% % 2700000 31000 o i] 0 2700000 31000
I ReER L SH|2] 3% % % 0 i i 202402 8072 202402 8072
HIzZE |B20 A=22 1 m3 13,200 356,193 o 369,393
T2 1 m3 12000 13200 i i 0 12000 13200
s .00 21 0 285645 285645 0 285645 285645
BERIS 0.50 2 0 141095 70548 ] 41095 70543
Hiaz g |HZ0 &3 GIH) 1 m 3,983 46,484 1] 50,467
HIf 22 BE| A 019 m 7.300 1,387 [t} o 0 7.300 1,307
HMELF} SUS ¢10mm-100 4 Ea& 620 2,480 [t} o i} B20 2.480
Faget s 010 2l i} 285,645 28,564 i} 265,645 26,564
Egrs 0,10 2l a 175,203 17,920 0 179,203 17.920
T EH| ZIEHIZ 3% 0.03 % 3,867 16 o o 3.867 116
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sSEZAUIE
U3 2502 A Ha- 45 (WEA JdR8)
B2y 22| 2y pl
2t 23 A |az o Tn
3t | 29 | @3t | 2 | @3 [2Y | @ | 29

I |#302 B B238 T=tmm | 1 | m2 .l 515,342 15,458 1,308,511
HiZE | LY EHE FaC pile I mZ - = 9% 5% 2,99 29| 1028 102574
Hizg | HRE@ AT P5C pile ] m 121,128 121,128 3,540 3,540 1,07 10| 158,043 156,043
Hizg | AZE(IE) &7 PEC pile I mZ 185,38 165,358 3, 46 2,446 7.063 TOE3 | 427867 427,867
HiZE | RS HHE FaC pile I mZ - - 46,484 46,454 1,34 1.3 47,878 4787
HEzE | CHEZHEA JS8) FaC pile I mZ 432,600 432,500 53,315 B3.315 2433 249 | hIadid b16414
MEZE | DHIZHA 2 2FHEA0 F5C pile I mZ 3055 0624 14,28 14,282 LA 428 53.3% b33
2 225 4393 P5Cpile | 1 | m 36,250 31133 1113 16,496
4z MT-Gealll | 076k | kg 50,000 3,240 = 7 30,240

22 013 ] & 7 2. fdh ETARS: 7 KTARA

JHtE TRHE T 05| % - - KTRER 1113 1113




S SEANRLAUINE
SHA  SIMU AT HL-HZDW (HZ A 228
M E b L 2y 2 Hl A
o i e i =h £t 3t = £t It R =l =29 Skt R i
HIZE | 2% S48 1 m2 - 99,975 2,999 102,974
R 0.35 2 5 285,545 99,975 - 285,645 99,975
NFEE 2|9 3% £ % % - = 99,975 2,999 99,975 2,993
H2z® | AFE(EZ) HT MT-FORM 1 m2 121,128 35,840 1,075 158,043
REER i) 9 m2 20,000 44,000 = = =2 20,000 44,000
SElESERTY MT-5 2.3 ka 32,000 73,600 = = = 32,000 73,600
Bz 0.2 2 = 179,203 35,540 S 179,203 35,940
=] ZHEk|2| 3% 3% % 117,600 3,528 2 - 117,600 3,528
JTRER L2H|2| 33 3% % - - - 35,840 1,075 35,840 1,075
H3ZE | HEFE(=E) 25 MT-FORM 1 m2 185, 358 235, 446 7,063 427,867
TEHSA 2EHH MT-SEAL 2.00 kg 50,000 100,000 = L = 50,000 100,000
MEY7} SUS ¢10mm-100 a E& £20 4,960 - - - £20 4,960
LE sus 5 EA 15,000 75,000 = 2 - 15,000 75,000
g5 0,60 2 = 285,645 171,387 - 285,645 171,387
sgus 0.20 ol = 179,203 35,840 = 179,203 35,840
EEUS 0.20 ]} T 141,095 28,219 - 141,095 28,219
T =H]| FIHEH|2| 3% 3% % 179,980 5,393 = - 179,960 5,398
FeEE 22| 3% % % 5 & = 235,448 T.063 235,446 T.063
HIZE | USE WS 1 m2 = 46,484 1,392 47,878
e 01 2 = 285,645 28,564 = 285,645 28,564
sgus 0.1 0l =S 179,203 17,920 = 174,203 17,920
REE w2H|2| 3% 3% % - - - 46,454 1,294 4£,494 1,294
HEZE | DBARZN(NZA JeteE 5mm 1 m2 432,600 83,315 2,499 518,414
JeteEH M-Pasy( &2 10 kg 42,000 420,000 = = 42,000 420,000
R 02 il = 285,645 57,129 = 285,645 57,129
EEUS 01 o — 141,095 14,109 = 141,088 14,109
Z27ER 0.07 2l = 172,529 12,077 - 172,529 12,077
EH = FIHZH|2| 3% 3% % 420,000 12,500 = = 420,000 12,600
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M 2 2 9 o

W 2H LB a2 H ZH
= =3 " A = = B =4 Bt =24 EH Ot =4 Bt =24
HIZE | H2E50-13 0,8x0.8x1 1 M 3.024.190 1.977 554 57,639 5,059,383
HZZR DUEHE Y BED 0 4,64 me - = 71,696 332,669 2,150 9.976 73,846 342,645
H3ZE HIAZEHE 13 4,43 me 129,780 ha1.414 107,521 431,694 3.2 14,445 240,526 1,077,556
HiZE R Ethy I 4,43 me - 7 57,129 255,937 1,73 1.67 ha.842 263,611
HEsE | Soeemd §E MT-FORM 120 | me 203,158 245, 860 107 521 130,100 3,255 3,002 313,904 871
HEZE FOl8RTE 47 MT-FORM 1.21 mé 193,640 234,304 478,416 575,863 14,352 17.365 586,408 830,552
Hiz® SHHE(T02ED 0,704 m3 2,781,000 1,957,524 202,402 142,491 6072 4274 2,939,474 2,104 589
Hez® ST LR EHD 1.20 m 3983 471 46,484 56,780 5 = G0 467 fi0,559
(Ed| 0691502 D|Z2H%)
HZZE (DUSHE T OEF 1 m2 0 71,696 2,150 73.846
Has 0% | o 0 285645 716% 0 285645 71836
ey =2 3% ®% | % 0 0 0 716% 2150 71636 2150
HIZE |HOHZZAR 12 1 m? 129,780 107,521 3,225 240,526
sauELlYE 1z 7 m2 13000 126000 0 0 0 18000 126000
Es0i= 0 | ol 0 179003 107521 0 179203 107521
T =t THEHe s | | % 128000 80 0 0 125000 780
pIEES] =219 3% w | % 0 0 0 107521 3295 107521 0%
HATE [HOATEAN 1 m2 0 57,129 1,713 58.842
Has 1 | o 0 205845 57129 0 285645 57129
PR =242 3% ® | % 0 0 0 57129 1713 57129 1713
H53E |RElAnREs HE MT-FORM 1 m2 203,198 107,521 3,25 313,944
Selas 573 548 | m2 20,000 109,800 0 0 0 20,000 103,800
sz|HaE MT-5 2% | ke | B0 g A e O 0 0 32,000 7,880
B s | o [f of I Vee | N woed 0 175,203 107,521
T =t szwea | om | % | faen | F gl W \ 0| 0 157,280 5,918
plEE ] C2H|2) 3% 0E | % ; d | el B 0/ 107,521 3,205 107,521 3,225




A2 4 9 O o
N EH T 2 2 H ZH
=+ 53 " - = = =4 =y =4 B2 =4 =l =4 o
HEZE |REldnid 21 MT-FORM 1 m2 193,640 478,416 14,352 686,408
TENSA £2H MT-SEAL(N 215 ka 50,000 157,500 0 0 0 50,000 157,500
HEYI} SUS 4100-100 i Ed gen 15,500 0 0 0 £20 15,500
LE 503 1 Ed 15,000 15,000 0 0 0 15,000 15,000
g7 1.50 bl 0 285,645 425,467 0 205,645 428,467
Emois 0.200 ol i 179,203 5,810 0 179,203 35,840
HEYS 0.100 ol 0 141,096 14,109 0 141,09 14,109
Tzt T =Hl2l 3% 0.03 % 188,000 5,640 0 0 188,000 5640
NFER L2H|D 3% 0.03 % i 0 0 418,416 14,352 478,415 14,352
Hizg (BHEI(OLSE) 1 m3 _ 2,781,000 _202, 452 5,072 2.989.474
J2tREH h-Mortar 1350 ke g 2000 231300fnu | 0 0 0 2000 2700000
e o | o ol D95645 \ /420 0 285645 142822
gEU= 0 | @ 0 141086 1308 i 14109 12308
227|127 0 ol 0 172529 17252 ] 172528 17252
Tz Zi=H|gl 3% % % 2700000 81000 0 0 0 2700000 81000
NFEE LH|2] 3% 2% % 0 0 0 202402 BOT2 202402 BOT2
HiZE (BZA A2 1 m3 13,200 356,193 0 369.393
HEN 11 m3 12000 13200 0 0 0 12000 13200
g7 1.00 ol 0 285645 285645 0 285645 20545
HEUS 0.50 ol 0 141096 70548 0 14109 70548
HIZE HZW SXGH) 1 3,983 46,484 0 50.467
I 221 SEME 019 7,300 1,387 I 0 0 7,300 1,387
HEYT} SUS ¢10mm-100 4 EA il 2,480 0 0 0 £20 2,480
e 0.10 ol 0 285,645 28,564 0 266,645 26,564
Egas 010 bl 0 179,203 17,920 0 179,203 17.920
T = SMEHIY 3% 0.0 % 1867 116 1] I 3867 116
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